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QUESTION BANK 
GEOGRAPHY 

 

UNIT-V  
 

dFku&dkj.k (Assertion-Reason) (01 Mark) 
 

Answer Options (उƣर ͪवकãप( (for all questions) 
(A) Both A and R are true, and R is the correct explanation of A.  

      A और R दोनɉ सहȣ हɇ, और R, A कȧ सहȣ åयाÉया है। 
(B) Both A and R are true, but R is not the correct explanation of A. 

       A और R दोनɉ सहȣ हɇ, लेͩ कन R, A कȧ सहȣ åयाÉया नहȣं है। 
(C) A is true, but R is false. 

      A सहȣ है, लेͩ कन R गलत है। 
(D) A is false, but R is true. 

               A गलत है, लेͩ कन R सहȣ है।  

QUESTIONS- 
1. Assertion (A): Urbanization often leads to the development of slums in large cities. 

Reason (R): Overpopulation, inadequate infrastructure, and lack of affordable housing are 
major factors contributing to the formation of slums. 

कथन  (A): शहरȣकरण अÈसर बड़ ेशहरɉ मɅ झुिÊगयɉ के ͪवकास कȧ ओर ले जाता है। 
कारण (R): अ×यͬधक जनसंÉया, अपया[Üत बǓुनयादȣ ढांचा और सèती आवास कȧ कमी 
झुिÊगयɉ के Ǔनमा[ण मɅ Ĥमुख कारण हɇ। 
 

2. Assertion (A): The development of rural areas in India has lagged behind urban growth. 
Reason (R): Migration to urban areas for better job opportunities and living conditions has 
resulted in urban growth outpacing rural development. 

कथन  (A): भारत मɅ Ēामीण ¢ेğɉ का ͪवकास शहरȣ ͪवकास के मुकाबले पीछे रह गया है। 
कारण (R): बेहतर नौकरȣ के अवसरɉ और जीवन िèथǓतयɉ के ͧलए शहरȣ ¢ेğɉ मɅ Ĥवासन ने 
शहरȣ ͪवकास को Ēामीण ͪवकास से आगे बढ़ने मɅ मदद कȧ है। 
 

3. Assertion (A): Rural settlements are often dispersed in nature. 
Reason (R): In rural areas, land is widely available, leading to settlements being spread out for 
agricultural and other activities. 

कथन  (A): Ēामीण बिèतयाँ अÈसर ĤकृǓत मɅ फैलाव वालȣ होती हɇ। 
कारण (R): Ēामीण ¢ेğɉ मɅ भूͧम आसानी से उपलÞध होती है, िजसस ेबिèतयाँ कृͪष और अÛय 
गǓतͪवͬधयɉ के ͧलए फैलȣ होती हɇ। 
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4. Assertion (A): The growth of megacities often leads to environmental degradation. 
Reason (R): Increased industrialization and high population density in megacities contribute to 
pollution, waste accumulation, and loss of biodiversity. 

कथन  (A): मेगाͧसटȣज़ का ͪवकास अÈसर पया[वरणीय ͬगरावट कȧ ओर ले जाता है। 
कारण (R): मेगाͧसटȣज़ मɅ औɮयोͬगकȧकरण मɅ वɮृͬध और उÍच जनसंÉया घन×व Ĥदषूण, 

कचरे का संचय और जैव ͪवͪवधता कȧ हाǓन का कारण बनते हɇ। 
 

5. Assertion (A): Rural-urban migration is a primary factor contributing to the growth of urban 
settlements. 
Reason (R): Migration to cities is driven by better educational, healthcare, and employment 
opportunities. 

कथन  (A): Ēामीण-शहरȣ Ĥवासन शहरȣ बिèतयɉ के ͪवकास मɅ योगदान करने वाला Ĥमुख 
कारक है। 
कारण (R): शहरɉ मɅ Ĥवासन बेहतर ͧश¢ा, èवाèØय देखभाल और रोजगार के अवसरɉ ɮवारा 
Ĥेǐरत होता है। 

6. Assertion (A): The concept of 'urban sprawl' is closely related to the unplanned growth of 
cities. 
Reason (R): Urban sprawl occurs when cities expand outward in a haphazard manner without 
adequate planning for infrastructure and services. 

कथन  (A): 'शहरȣ फैलाव' का ͪवचार शहरȣ ¢ेğɉ के अĤ×याͧशत ͪवकास से गहरे Ǿप से जुड़ा 
है। 
कारण (R): शहरȣ फैलाव तब होता है जब शहर ǒबना उͬचत बुǓनयादȣ ढांचे और सेवाओं कȧ 
योजना के ǒबना बाहर कȧ ओर फैलते हɇ। 
 

7. Assertion (A): Human settlements play a significant role in shaping the cultural and social 
fabric of a region. 
Reason (R): The interaction between people in a settlement leads to the development of 
distinct cultural and social norms. 

कथन  (A): मानव बिèतयाँ ¢ेğ कȧ सांèकृǓतक और सामािजक संरचना को आकार देने मɅ 
मह×वपूण[ भूͧमका Ǔनभाती हɇ। 
कारण (R): एक बèती मɅ लोगɉ के बीच बातचीत से ͪवͧशçट सांèकृǓतक और सामािजक 
मानदंडɉ का ͪवकास होता है। 
 

8. Assertion (A): The process of urbanization causes rural depopulation. 
Reason (R): People migrate from rural areas to urban areas in search of better living conditions 
and employment opportunities. 

कथन  (A): शहरȣकरण कȧ ĤͩĐया Ēामीण जनसंÉया मɅ कमी का कारण बनती है। 
कारण (R): लोग बेहतर जीवन िèथǓतयɉ और रोजगार के अवसरɉ कȧ तलाश मɅ Ēामीण ¢ेğɉ 
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से शहरȣ ¢ेğɉ मɅ Ĥवास करते हɇ। 
 

9. Assertion (A): Infrastructure development is critical for the growth of urban settlements. 
Reason (R): Proper infrastructure supports better living conditions and facilitates economic 
activities in urban areas. 

कथन  (A): शहरȣ बिèतयɉ के ͪवकास के ͧलए बुǓनयादȣ ढांचे का ͪवकास मह×वपूण[ है। 
कारण (R): उͬचत बुǓनयादȣ ढांचा बेहतर जीवन िèथǓतयɉ का समथ[न करता है और शहरȣ ¢ेğɉ 
मɅ आͬथ[क गǓतͪवͬधयɉ को सुͪवधाजनक बनाता है। 
 

10. Assertion (A): Overpopulation in cities can lead to pressure on available resources. 
Reason (R): High population density causes strain on infrastructure, healthcare, and other 
essential services. 

कथन  (A): शहरɉ मɅ अ×यͬधक जनसंÉया संसाधनɉ पर दबाव डाल सकती है। 
कारण (R): उÍच जनसंÉया घन×व बुǓनयादȣ ढांचे, èवाèØय देखभाल और अÛय आवæयक 
सेवाओं पर दबाव डालता है। 
 

cgqfodYih; iz”u (Multiple-choice Questions) (01 Mark) 
- 

1. What is the main factor responsible for the development of metropolitan cities in 
developing countries? 

ͪवकͧसत देशɉ मɅ महानगरȣय शहरɉ के ͪवकास के ͧलए मुÉय कारण Èया है? 

A) Availability of natural resources / ĤाकृǓतक संसाधनɉ कȧ उपलÞधता 
B) Economic opportunities / आͬथ[क अवसर 

C) Climate conditions / जलवायु िèथǓतयाँ 
D) Social factors / सामािजक कारक 

 
2. Which of the following is a characteristic feature of a "primate city"? 

Ǔनàनͧलͨखत मɅ से कौन "Ĥधान शहर" का एक ͪवशषे ल¢ण है? 

A) It has a population larger than twice the size of the second-largest city. / इसकȧ जनसंÉया 
दसूरȣ सबसे बड़ी शहर से दो गुना अͬधक होती है। 
B) It has a predominantly rural population. / इसमɅ मुÉय Ǿप से Ēामीण जनसंÉया होती है। 
C) It is located in a geographically isolated area. / यह भौगोͧलक Ǿप से अलग-थलग ¢ेğ मɅ 
िèथत होता है। 
D) It has a balanced distribution of population. / इसकȧ जनसंÉया का ͪवतरण संतुͧलत होता 
है। 

 
3. How does the presence of a river impact the location of human settlements? 

नदȣ कȧ उपिèथǓत मानव बिèतयɉ के èथान को कैसे Ĥभाͪवत करती है? 
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A) It leads to the development of primary industries. / यह Ĥाथͧमक उɮयोगɉ के ͪवकास कȧ 
ओर ले जाता है। 
B) It increases the chances of flooding, deterring settlements. / यह बाढ़ कȧ संभावना को बढ़ाता 
है, िजसस ेबिèतयाँ हतो×साǑहत होती हɇ। 
C) It encourages the growth of trade and agriculture, thus supporting settlements. / यह åयापार 
और कृͪष के ͪवकास को बढ़ावा देता है, िजसस ेबिèतयाँ बनती हɇ। 
D) It has no impact on the location of settlements. / इसका बिèतयɉ के èथान पर कोई Ĥभाव 
नहȣं पड़ता। 

 
4. Which type of settlement is most likely to be found in a hilly terrain with limited 

agricultural potential? 

ͩकस Ĥकार कȧ बèती पहाड़ी इलाके मɅ पाई जाती है, जहाँ कृͪष कȧ संभावनाएँ सीͧमत हɇ? 

A) Compact rural settlements / संकुͬचत Ēामीण बिèतया ँ
B) Dispersed rural settlements / ͪवतǐरत Ēामीण बिèतया ँ
C) Metropolitan settlements / महानगरȣय बिèतया ँ
D) Linear settlements / रेखीय बिèतया ँ

 
5. How do government policies contribute to urban sprawl? 

सरकारȣ नीǓतयाँ शहरȣ फैलाव मɅ कैसे योगदान करती हɇ? 

A) By promoting agriculture in urban areas / शहरȣ ¢ेğɉ मɅ कृͪष को बढ़ावा देकर 

B) By improving transportation infrastructure, making outlying areas accessible / पǐरवहन 
अवसंरचना मɅ सुधार करके, बाहरȣ ¢ेğɉ को सुलभ बनाना 
C) By encouraging rural-urban migration / Ēामीण-शहरȣ Ĥवास को बढ़ावा देकर 

D) By discouraging the development of rural areas / Ēामीण ¢ेğɉ के ͪवकास को हतो×साǑहत 
करके 

 
6. In which type of region would a "circular settlement" be most appropriate? 

ͩकस Ĥकार के ¢ेğ मɅ "वƣृाकार बèती" सबसे उपयुÈत होगी? 

A) Coastal plains / तटȣय मैदान 

B) Mountainous regions / पहाड़ी ¢ेğ 

C) River valleys / नदȣ कȧ घाǑटयाँ 
D) Deserts / रेͬगèतान 

 
7. The process of de-urbanization refers to which of the following? 

ͫड-शहरȣकरण कȧ ĤͩĐया Ǔनàनͧलͨखत मɅ से ͩकसे संदͧभ[त करती है? 
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A) Movement of people from rural to urban areas / Ēामीण से शहरȣ ¢ेğɉ कȧ ओर लोगɉ का 
आंदोलन 

B) Population shift from urban to rural areas / शहरȣ से Ēामीण ¢ेğɉ कȧ ओर जनसंÉया का 
èथानांतरण 

C) Growth of metropolitan cities / महानगरȣय शहरɉ का ͪवकास 

D) Development of megacities / मेगाͧसटȣ का ͪवकास 

 
8. What is the key difference between "urban sprawl" and "suburbanization"? 

"शहरȣ फैलाव" और "उपनगरȣकरण" मɅ मुÉय अतंर Èया है? 

A) Urban sprawl occurs due to agricultural growth, while suburbanization is driven by 

industrial growth. / शहरȣ फैलाव कृͪष के ͪवकास के कारण होता है, जबͩक उपनगरɉ का ͪवकास 
औɮयोͬगक ͪवकास ɮवारा Ĥेǐरत होता है। 
B) Urban sprawl involves uncontrolled spread of cities, while suburbanization is more planned. 

/ शहरȣ फैलाव शहरɉ का अǓनयंǒğत फैलाव होता है, जबͩक उपनगरɉ का ͪवकास अͬधक 
योजनाबɮध होता है। 
C) Urban sprawl refers to the development of rural areas, while suburbanization refers to urban 

growth. / शहरȣ फैलाव Ēामीण ¢ेğɉ के ͪवकास को संदͧभ[त करता है, जबͩक उपनगरɉ का 
ͪवकास शहरȣ वɮृͬध को संदͧभ[त करता है। 
D) There is no significant difference between the two terms. / दोनɉ शÞदɉ के बीच कोई 
मह×वपूण[ अतंर नहȣं है। 

 
9. Which of the following is an example of a "functional city"? 

Ǔनàनͧलͨखत मɅ से कौन "काया[×मक शहर" का एक उदाहरण है? 

A) A city mainly engaged in primary sector activities / एक शहर जो मुÉय Ǿप से Ĥाथͧमक 
¢ेğ कȧ गǓतͪवͬधयɉ मɅ संलÊन है 

B) A city based on trade and commerce / एक शहर जो åयापार और वाͨणÏय पर आधाǐरत है 

C) A city with no organized transportation system / एक शहर िजसमɅ संगǑठत पǐरवहन Ĥणालȣ 
नहȣं है 

D) A city with only residential areas / एक शहर िजसमɅ केवल आवासीय ¢ेğ हɇ 
 
10. Which factor most influences the development of rural settlements? 

Ǔनàनͧलͨखत मɅ से कौन सा कारक Ēामीण बिèतयɉ के ͪवकास को Ĥभाͪवत करने कȧ 
संभावना है? 

A) Availability of natural resources / ĤाकृǓतक संसाधनɉ कȧ उपलÞधता 
B) Presence of large industries / बड़ ेउɮयोगɉ कȧ उपिèथǓत 
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C) Availability of social infrastructure / सामािजक अवसंरचना कȧ उपलÞधता 
D) Proximity to urban centers / शहरȣ कɅ ġɉ के पास होना 

 
11. What is the main feature of a "linear settlement" pattern? 

"रेखीय बèती" पैटन[ कȧ मुÉय ͪवशषेता Èया है? 

A) Houses are distributed in a circular shape. / घर वƣृाकार आकार मɅ ͪवतǐरत होते हɇ। 
B) Houses are aligned along a road or river. / घर एक सड़क या नदȣ के ͩकनारे िèथत होते हɇ। 
C) Houses are clustered at the center of the settlement. / घर बèती के कɅ ġ मɅ िèथत होते हɇ। 
D) Houses are spread evenly across a large area. / घर बड़ े¢ेğ मɅ समान Ǿप से फैले होते हɇ। 

 
12. Which type of urban settlement is more likely to develop due to the presence of major 

transport hubs? 

ͩकस Ĥकार कȧ शहरȣ बèती Ĥमुख पǐरवहन कɅ ġɉ कȧ उपिèथǓत के कारण अͬधक ͪवकͧसत 
होने कȧ संभावना है? 

A) Megacities / मेगाͧसटȣ 
B) Metropolitan cities / महानगरȣय शहर 

C) Primate cities / Ĥधान शहर 

D) Hinterland settlements / आंतǐरक ¢ेğ कȧ बिèतया ँ
 
13. In which type of settlement would agriculture be the main occupation? 

ͩकस Ĥकार कȧ बèती मɅ कृͪष मुÉय åयवसाय होगा? 

A) Urban settlements / शहरȣ बिèतया ँ
B) Rural settlements / Ēामीण बिèतया ँ
C) Suburban settlements / उपनगर बिèतया ँ
D) Metropolitan settlements / महानगरȣय बिèतया ँ

 
14. Which factor most influences the development of slums in urban areas? 

कौन सा कारक शहरȣ ¢ेğɉ मɅ झुÊगी-बिèतयɉ के ͪवकास को सबसे अͬधक Ĥभाͪवत करता है? 

A) High levels of industrialization / उÍच èतर का औɮयोͬगकȧकरण 

B) Lack of affordable housing / ͩकफायती आवास कȧ कमी 
C) Climate change / जलवायु पǐरवत[न 

D) Growth of the tertiary sector / ततृीयक ¢ेğ का ͪवकास 

 
15. What is the relationship between human settlements and the availability of water 

resources? 

मानव बिèतयɉ और जल संसाधनɉ कȧ उपलÞधता के बीच Èया संबंध है? 
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A) Water resources are a major factor in the location of settlements, especially in arid regions. / 

जल संसाधन बिèतयɉ के èथान का एक Ĥमुख कारक होते हɇ, खासकर शुçक ¢ेğɉ मɅ। 
B) Water resources have no impact on the development of human settlements. / जल संसाधन 
मानव बिèतयɉ के ͪवकास पर कोई Ĥभाव नहȣं डालते। 
C) Human settlements grow only near lakes and oceans. / मानव बिèतयाँ केवल झीलɉ और 
महासागरɉ के पास बढ़ती हɇ। 
D) Availability of water is irrelevant to the development of settlements. / जल कȧ उपलÞधता 
बिèतयɉ के ͪवकास से अĤासंͬगक है। 

 
16. What role does the growth of transportation networks play in urbanization? 

पǐरवहन नेटवकɟ के ͪवकास का शहरȣकरण मɅ Èया भूͧमका है? 

A) It decreases the rate of urbanization. / यह शहरȣकरण कȧ दर को घटाता है। 
B) It makes rural areas more isolated. / यह Ēामीण ¢ेğɉ को अͬधक अलग-थलग बना देता है। 
C) It enhances connectivity, promoting urban expansion. / यह कनेिÈटͪवटȣ को बढ़ाता है, 

िजसस ेशहरȣ ͪवèतार को बढ़ावा ͧमलता है। 
D) It has no significant impact on urbanization. / इसका शहरȣकरण पर कोई मह×वपूण[ Ĥभाव 
नहȣं है। 

 
17. How does the development of a city center impact its surrounding areas? 

एक शहर के कɅ ġ का ͪवकास इसके आसपास के ¢ेğɉ को कैसे Ĥभाͪवत करता है? 

A) It leads to the abandonment of surrounding rural areas. / यह आसपास के Ēामीण ¢ेğɉ को 
छोड़ने कȧ ओर ले जाता है। 
B) It attracts businesses, leading to suburbanization. / यह åयापारɉ को आकͪष[त करता है, 

िजसस ेउपनगरɉ का ͪवकास होता है। 
C) It results in the migration of people from urban to rural areas. / यह शहरȣ से Ēामीण ¢ेğɉ 
कȧ ओर लोगɉ के Ĥवास का कारण बनता है। 
D) It has no impact on surrounding areas. / इसका आसपास के ¢ेğɉ पर कोई Ĥभाव नहȣं 
पड़ता। 

 
18. Which of the following factors is most likely to discourage urban growth? 

Ǔनàनͧलͨखत मɅ से कौन सा कारक शहरȣ ͪवकास को हतो×साǑहत करने कȧ संभावना है? 

A) Availability of natural resources / ĤाकृǓतक संसाधनɉ कȧ उपलÞधता 
B) Strong transportation infrastructure / मजबूत पǐरवहन अवसंरचना 
C) Limited economic opportunities / सीͧमत आͬथ[क अवसर 

D) Increased industrialization / vkS|ksxhdj.k esa òf) 
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vfr y?kq mRRkjh; iz”u (Very short answer questions (01 Mark)  [  

Q1: How do physical factors influence the location of human settlements? 

   भौǓतक कारक मानव बिèतयɉ के èथान को कैसे Ĥभाͪवत करते हɇ? 

Q2: Explain the significance of site and situation in urban settlements. 

   शहरȣ बिèतयɉ मɅ èथल और िèथǓत का मह×व समझाइए। 
Q3: Discuss the impact of industrialization on the growth of cities. 

  औɮयोͬगकȧकरण का नगरɉ के ͪवकास पर Ĥभाव पर चचा[ कȧिजए। 
Q4: How do cultural factors contribute to the development of rural settlements? 

  सांèकृǓतक कारक Ēामीण बिèतयɉ के ͪवकास मɅ कैसे योगदान करते हɇ? 

Q5: What is the role of transport networks in the growth of human settlements? 

   मानव बिèतयɉ के ͪवकास मɅ पǐरवहन नेटवक[  कȧ भूͧमका Èया है? 

Q6: How do economic factors like employment opportunities affect settlement patterns? 

    रोजगार के अवसर जैसे आͬथ[क कारक बिèत संरचनाओं को कैसे Ĥभाͪवत करते हɇ? 

Q7: Explain the relationship between urbanization and environmental degradation. 

   शहरȣकरण और पया[वरणीय ͬगरावट के बीच संबंध समझाइए। 
Q8: How does the size of settlements influence their economic activities? 

    बिèतयɉ का आकार उनके आͬथ[क ͩĐयाकलापɉ को कैसे Ĥभाͪवत करता है? 

Q9: What are the socio-cultural factors that influence rural migration? 

   कौन से सामािजक-सांèकृǓतक कारक Ēामीण पलायन को Ĥभाͪवत करत ेहɇ? 

Q10: How do government policies impact the development of human settlements? 

   सरकार कȧ नीǓतयाँ मानव बिèतयɉ के ͪवकास पर कैसे Ĥभाव डालती हɇ? 

Q11: What is the impact of globalization on urban settlements? 

   वैæवीकरण का शहरȣ बिèतयɉ पर Èया Ĥभाव है? 

Q12: How do land-use patterns change with the development of settlements? 

    बिèतयɉ के ͪवकास के साथ भूͧम उपयोग के पैटन[ मɅ कैसे पǐरवत[न होता है? 

Q13: How do technological advancements affect settlement development? 

    Ĥौɮयोͬगकȧय ĤगǓत बिèत ͪवकास को कैसे Ĥभाͪवत करती है? 

Q14: Discuss the role of urban centers as economic hubs in human settlements.           

            मानव बिèतयɉ मɅ शहरȣ कɅ ġɉ कȧ आͬथ[क हब के Ǿप मɅ भूͧमका पर चचा[ कȧिजए। 
Q15: How does the availability of resources affect the growth of human settlements? 

    संसाधनɉ कȧ उपलÞधता मानव बिèतयɉ के ͪवकास को कैसे Ĥभाͪवत करती है? 
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Q16: Explain how demographic factors like population density affect settlement types. 

    जनसांिÉयकȧ कारक जसै ेजनसंÉया घन×व बèती Ĥकारɉ को कैसे Ĥभाͪवत करते हɇ? 

Q17: What role do historical factors play in the establishment of settlements? 

    ऐǓतहाͧसक कारक बिèतयɉ कȧ èथापना मɅ Èया भूͧमका Ǔनभाते हɇ? 

Q18: How does urban sprawl affect the surrounding environment? 

    शहरȣ ͪवèतार आसपास के पया[वरण को कैसे Ĥभाͪवत करता है? 

Q19: How do natural disasters influence the pattern of settlements? 

    ĤाकृǓतक आपदाएँ बिèतयɉ के पैटन[ को कैसे Ĥभाͪवत करती हɇ? 

Q20: What are the environmental consequences of overpopulation in urban settlements? 

     शहरȣ बिèतयɉ मɅ अ×यͬधक जनसंÉया का पया[वरणीय पǐरणाम Èया है? 

 

 

y?kq mRRkjh; iz”u  (Short answer questions (02 Marks) 

1. What are the key factors influencing the spatial distribution of human settlements? 

मानव बिèतयɉ के èथाǓनक ͪवतरण को Ĥभाͪवत करने वाले Ĥमुख कारक कौन से हɇ? 

2. How does the process of urbanization impact the environment? 

शहरȣकरण कȧ ĤͩĐया पया[वरण को ͩकस Ĥकार Ĥभाͪवत करती है? 

3. Explain the concept of 'rural-urban continuum' with examples. 

'Ēामीण-शहरȣ Ǔनरंतरता' कȧ अवधारणा को उदाहरणɉ के साथ समझाइए। 

4. How does the size of a settlement influence its functions and services? 

ͩकसी बèती का आकार उसके कायɟ और सेवाओं को ͩकस Ĥकार Ĥभाͪवत करता है? 

5. Discuss the relationship between the growth of human settlements and the availability of 
resources. 

मानव बिèतयɉ के ͪवकास और संसाधनɉ कȧ उपलÞधता के बीच संबंध पर चचा[ कȧिजए। 
6. How does the industrialization of a region affect the settlement patterns? 

ͩकसी ¢ेğ का औɮयोͬगकȧकरण बèती के पैटन[ को ͩकस Ĥकार Ĥभाͪवत करता है? 

7. What are the causes and consequences of rural-urban migration in India? 

भारत मɅ Ēामीण-शहरȣ Ĥवासन के कारण और पǐरणाम Èया हɇ? 

8. Explain the concept of 'smart cities' and their relevance to sustainable development.  

'èमाट[ ͧसटȣ' कȧ अवधारणा D;k gS? यह सतत ͪवकास से ͩकस Ĥकार जुड़ी है, समझाइए। 
9. How do transportation networks influence the growth of settlements? 

यातायात नेटवक[  बिèतयɉ के ͪवकास को ͩकस Ĥकार Ĥभाͪवत करते हɇ? 
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10. What is the role of population density in shaping the characteristics of human 
settlements? 

जनसंÉया घन×व का मानव बिèतयɉ के ल¢णɉ को आकार देने मɅ Èया योगदान होता है? 

11. Discuss the impact of globalization on the settlement patterns in major urban centers. 

वैæवीकरण का Ĥमुख शहरȣ कɅ ġɉ मɅ बèती के पैटन[ पर Èया Ĥभाव पड़ा है, इस पर चचा[ 

कȧिजए। 
12. Explain the significance of planning in the development of sustainable urban settlements. 

सतत शहरȣ बिèतयɉ के ͪवकास मɅ योजना बनाने का Èया मह×व है, इसे समझाइए। 
13. How do economic factors contribute to the growth of urban settlements? 

आͬथ[क कारक शहरȣ बिèतयɉ के ͪवकास मɅ ͩकस Ĥकार योगदान करते हɇ? 

14. Describe the impact of natural disasters on human settlements in vulnerable regions. 

ĤाकृǓतक आपदाओं का संवेदनशील ¢ेğɉ मɅ मानव बिèतयɉ पर Èया Ĥभाव पड़ता है, इसका 

वण[न कȧिजए। 
15. What is the concept of 'urban sprawl,' and what are its consequences? 

'शहरȣ फैलाव' कȧ अवधारणा Èया है, और इसके पǐरणाम Èया हɇ? 

16. How do government policies influence the development of human settlements in India? 

भारत मɅ मानव बिèतयɉ के ͪवकास पर सरकारȣ नीǓतयाँ ͩकस Ĥकार Ĥभाव डालती हɇ? 

17. Explain the role of technological advancements in shaping modern human settlements. 

आधुǓनक मानव बिèतयɉ को आकार देने मɅ Ĥौɮयोͬगकȧय ĤगǓत कȧ Èया भूͧमका है, इसे 

समझाइए। 
18. What are the challenges faced by rapidly growing urban settlements? 

तेज़ी से बढ़ती शहरȣ बिèतयɉ को ͩकन चुनौǓतयɉ का सामना करना पड़ता है? 

19. Discuss the concept of 'sustainable rural settlements' and their importance in rural 
development. 

'सतत Ēामीण बिèतया'ँ कȧ अवधारणा और Ēामीण ͪवकास मɅ इनका मह×व पर चचा[ कȧिजए। 
20. How does the demographic structure of a region affect the settlement pattern in human 

geography? 

ͩकसी ¢ेğ कȧ जनसांिÉयकȧ संरचना मानव भूगोल मɅ बèती के पैटन[ को ͩकस Ĥकार Ĥभाͪवत 

करती है? 

 
 

y?kq mRRkjh; iz”u  (Short answer questions (03 Marks) 

1. Explain the factors that influence the development of rural settlements. 
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Ēामीण बिèतयɉ के ͪवकास पर Ĥभाव डालने वाले कारकɉ कȧ åयाÉया करɅ। 
 

2. Discuss the role of transport networks in the growth of urban settlements. 

शहरȣ बिèतयɉ के ͪवकास मɅ पǐरवहन नेटवक[  कȧ भूͧमका पर चचा[ करɅ। 
 

3. Compare the characteristics of rural and urban settlements. 

Ēामीण और शहरȣ बिèतयɉ के ल¢णɉ कȧ तुलना करɅ। 
 

4. How does the distribution of settlements impact the economic activities in a region? 

बिèतयɉ का ͪवतरण एक ¢ेğ मɅ आͬथ[क गǓतͪवͬधयɉ को कैसे Ĥभाͪवत करता है? 

 

5. Analyze the impact of technological advancements on the growth of human 
settlements. 

मानव बिèतयɉ के ͪवकास पर Ĥौɮयोͬगकȧ मɅ हुई ĤगǓत का Ĥभाव ͪवæलेषण करɅ। 
6. Discuss how urbanization influences the environment and lifestyle of the human 

population.  

शहरȣकरण का Ekkuo leqnk; के पया[वरण और जीवनशैलȣ पर Ĥभाव पर चचा[ करɅ। 
 

7. Explain the different types of rural settlements and their characteristics. 

Ēामीण बिèतयɉ के ͪवͧभÛन Ĥकार और उनके ल¢णɉ कȧ åयाÉया करɅ। 
 

8. Evaluate the significance of sustainable urban planning in the development of human 
settlements. 

मानव बिèतयɉ के ͪवकास मɅ सतत शहरȣ योजना कȧ मह×वपूण[ता का मãूयांकन करɅ। 
 

9. Assess the effects of rapid urbanization on social structures and housing. 

×वǐरत शहरȣकरण का सामािजक संरचनाओं और आवास पर Ĥभाव का मूãयांकन करɅ। 
 

10. Discuss the relationship between the availability of resources and the location of 
human settlements. 

संसाधनɉ कȧ उपलÞधता और मानव बिèतयɉ के èथान के बीच संबंध पर चचा[ करɅ। 
 

11. Explain the concept of planned settlements and their benefits in urban areas. 

योजनाबɮध बिèतयɉ कȧ अवधारणा और शहरȣ ¢ेğɉ मɅ उनके लाभɉ कȧ åयाÉया करɅ। 
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12. Analyze the challenges faced by urban areas due to overpopulation and how they can 
be addressed. 

अ×यͬधक जनसंÉया के कारण शहरȣ ¢ेğɉ को होने वालȣ चुनौǓतयɉ का ͪवæलेषण करɅ और उÛहɅ 

कैसे हल ͩकया जा सकता है। 
 

13. How does the location of industries influence the pattern of human settlements? 

उɮयोगɉ का èथान मानव बिèतयɉ के पैटन[ को कैसे Ĥभाͪवत करता है? 

 

14. Evaluate the role of cultural and social factors in the formation of human 
settlements. 

मानव बिèतयɉ के Ǔनमा[ण मɅ सांèकृǓतक और सामािजक कारकɉ कȧ भूͧमका का मूãयांकन करɅ। 
 

15. What are the main factors that contribute to the growth of metropolitan cities? 
Discuss with examples. 

महानगरȣय शहरɉ के ͪवकास मɅ योगदान करने वाले मुÉय कारक Èया हɇ? उदाहरण सǑहत चचा[ 

करɅ। 
16. Assess the impact of transportation and communication systems on human 

settlements in the modern world. 

आधुǓनक ͪवæव मɅ पǐरवहन और संचार Ĥणाͧलयɉ का मानव बिèतयɉ पर Ĥभाव का मूãयांकन करɅ। 
 

17. Discuss the challenges and solutions for providing basic amenities in rural 
settlements. 

Ēामीण बिèतयɉ मɅ बुǓनयादȣ सुͪवधाएं Ĥदान करने कȧ चुनौǓतयɉ और उनके समाधान पर चचा[ 

करɅ। 
 

18. Examine the role of government policies in shaping the pattern of human 
settlements. 

मानव बिèतयɉ के पैटन[ को आकार देने मɅ सरकारȣ नीǓतयɉ कȧ भूͧमका कȧ जांच करɅ। 
 

19. How do natural disasters impact human settlements and their recovery process? 

ĤाकृǓतक आपदाएं मानव बिèतयɉ को और उनकȧ पुनǓन[मा[ण ĤͩĐया को कैसे Ĥभाͪवत करती हɇ? 

 

20. Analyze the effects of rural-urban migration on the development of human 
settlements. 
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Ēामीण-शहरȣ Ĥवासन का मानव बिèतयɉ के ͪवकास पर Ĥभाव का ͪवæलेषण करɅ। 
 
 

nh?kZ mRRkjh; iz”u  (Long answer questions (05Marks) 
 

1. Explain the factors influencing the growth and development of urban settlements in 
India. 

भारत मɅ शहरȣ बिèतयɉ के ͪवकास और वɮृͬध को Ĥभाͪवत करने वाले त×वɉ कȧ åयाÉया करɅ। 
 

2. Describe the process of urbanization in India and discuss its socio-economic impacts. 

भारत मɅ शहरȣकरण कȧ ĤͩĐया का वण[न करɅ और इसके सामािजक-आͬथ[क Ĥभावɉ पर चचा[ करɅ। 
 

3. Examine the role of transportation in the growth of human settlements. 

मानव बिèतयɉ के ͪवकास मɅ पǐरवहन कȧ भूͧमका कȧ जांच करɅ। 
 
4. What are the different types of rural settlements in India? Discuss their characteristics. 

भारत मɅ Ēामीण बिèतयɉ के ͪवͧभÛन Ĥकार Èया हɇ? उनके ल¢णɉ पर चचा[ करɅ। 
 

5. Analyze the impact of industrialization on urban settlements in India. 

भारत मɅ औɮयोͬगकȧकरण के शहरȣ बिèतयɉ पर Ĥभाव का ͪवæलेषण करɅ। 
 

6. Discuss the role of government policies in shaping human settlements in India. 

भारत मɅ मानव बिèतयɉ के आकार मɅ सरकारȣ नीǓतयɉ कȧ भूͧमका पर चचा[ करɅ। 
 

7. Explain the concept of urban sprawl and its environmental consequences. 

शहरȣ फैलाव कȧ अवधारणा और इसके पया[वरणीय पǐरणामɉ कȧ åयाÉया करɅ। 
 

8. Describe the characteristics of mega cities and their challenges in terms of urban 
planning and management. 

      महानगरɉ कȧ ͪवशषेताओं का वण[न करɅ और शहरȣ Ǔनयोजन और Ĥबधंन के सदंभ[ मɅ उनकȧ 

चुनौǓतयɉ पर चचा[ करɅ। 
9. Analyze the causes and consequences of rural-urban migration in India. 

भारत मɅ Ēामीण-शहरȣ Ĥवासन के कारणɉ और पǐरणामɉ का ͪवæलेषण करɅ। 
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10. Explain the importance of sustainable development in the growth of human 
settlements. 

मानव बिèतयɉ के ͪवकास मɅ सतत ͪवकास के मह×व कȧ åयाÉया करɅ। 
 

11. Discuss the social, economic, and environmental impacts of slums in urban areas. 

शहरȣ ¢ेğɉ मɅ झुिÊगयɉ के सामािजक, आͬथ[क और पया[वरणीय Ĥभावɉ पर चचा[ करɅ। 
 

12. What is the concept of ‘Smart Cities’? Discuss their potential in improving urban 
living conditions. 

‘èमाट[ ͧसटȣज’ कȧ अवधारणा Èया है? शहरȣ जीवन कȧ िèथǓतयɉ को सुधारने मɅ उनके संभाͪवत 

योगदान पर चचा[ करɅ। 
 

13. Evaluate the challenges faced by rural settlements in India in terms of infrastructure 
and services. 

भारत मɅ Ēामीण बिèतयɉ को बुǓनयादȣ ढांचे और सेवाओं के संदभ[ मɅ िजन चनुौǓतयɉ का सामना 

करना पड़ता है, उनका मूãयांकन करɅ। 
 

14. Explain the concept of 'sustainable urbanization' and its relevance in the context of 
growing cities. 

'सतत शहरȣकरण' कȧ अवधारणा और बढ़ते शहरɉ के संदभ[ मɅ इसकȧ Ĥासंͬगकता कȧ åयाÉया करɅ। 
 

15. Examine the impact of population growth on human settlements and their 
sustainability. 

जनसंÉया वɮृͬध के मानव बिèतयɉ और उनके िèथरता पर Ĥभाव का परȣ¢ण करɅ। 
 

16. Describe the role of information technology in shaping modern urban settlements. 

आधुǓनक शहरȣ बिèतयɉ के Ǿप मɅ सूचना Ĥौɮयोͬगकȧ कȧ भूͧमका का वण[न करɅ। 
 

17. Discuss the relationship between economic development and the growth of human 
settlements. 

आͬथ[क ͪवकास और मानव बिèतयɉ के ͪवकास के बीच संबंध पर चचा[ करɅ। 
 

18. What are the environmental challenges posed by the growth of human settlements? 
Discuss their mitigation strategies. 
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मानव बिèतयɉ के ͪवकास ɮवारा उ×पÛन पया[वरणीय चुनौǓतयɉ के बारे मɅ बताएं। उनके Ǔनवारण 

कȧ रणनीǓतयɉ पर चचा[ करɅ। 
 

19. Examine the role of green spaces in urban settlements and their contribution to the 
quality of life. 

शहरȣ बिèतयɉ मɅ हरे-भरे èथानɉ कȧ भूͧमका और जीवन कȧ गुणवƣा मɅ उनके योगदान का परȣ¢ण 

करɅ। 
 

20. Analyze the relationship between transportation networks and the development of 
human settlements in metropolitan areas. 

महानगरɉ मɅ पǐरवहन नटेवक[  और मानव बिèतयɉ के ͪवकास के बीच संबंध का ͪवæलेषण करɅ। 
 
 

Case Study Based Questions 
Case Study-1 

In a major industrial city located in western India, a large automobile manufacturing unit was 
established. It is an example of modern large-scale manufacturing, characterized by continuous 
production, automation, use of robotics, and high specialization of labour. The unit operates 24 
hours a day and has integrated supply chains, sourcing components both domestically and 
internationally. 

The location was selected based on a combination of physical and economic factors: proximity to 
raw materials like steel and plastic, availability of clean water and flat land, excellent road and rail 
connectivity, nearby engineering institutes for skilled labour, and proximity to a large consumer 
market. 

This manufacturing unit is classified in the following ways: 

 By Size: Large-scale industry 
 By Input: Mineral-based and chemical-based inputs 
 By Output/Product: Durable consumer goods 
 By Ownership: Privately owned 

Adjacent to the production facility is a Research and Development (R&D) centre where 
engineers and scientists work on electric mobility, artificial intelligence integration, and hydrogen-
based engines. The presence of innovation, precision tools, and skilled professionals qualifies it as a 
high-tech industry. 
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This case illustrates how location, classification, technology, and labour specialization come 
together to shape the modern industrial environment. 

भारत के पिæचमी ¢ेğ के एक Ĥमुख औɮयोͬगक नगर मɅ एक बड़ा ऑटोमोबाइल Ǔनमा[ण संयंğ 
èथाͪपत ͩकया गया। यह आधुǓनक बड़ ेपैमाने पर Ǔनमा[ण का उदाहरण है, िजसमɅ Ǔनरंतर उ×पादन, 

èवचालन, रोबोǑटÈस का उपयोग, और Įम का उÍच ͪवͧशçटȣकरण शाͧमल है। यह इकाई 24 घंटे 
चलती है और इसमɅ देशी व ͪवदेशी İोतɉ से भागɉ कȧ आपूǓत [ कȧ जाती है। 

इसका èथान Ǔनधा[रण भौǓतक एवं आͬथ[क कारकɉ के आधार पर हुआ: जैसे- इèपात और Üलािèटक 
जैसे कÍचे माल कȧ Ǔनकटता, èवÍछ जल और समतल भूͧम कȧ उपलÞधता, उƣम सड़क और रेल 
संपक[ , Ǔनकटवतȸ इंजीǓनयǐरगं संèथान (कुशल Įम हेतु), और बड़ा उपभोÈता बाजार। 

इस उɮयोग को इस Ĥकार वगȸकृत ͩकया जा सकता है: 

 आकार के आधार पर: बड़ ेपैमाने का उɮयोग 

 कÍचे माल के आधार पर: खǓनज व रासायǓनक आधाǐरत 

 उ×पाद के आधार पर: Ǒटकाऊ उपभोÈता वèतुए ं

 èवाͧम×व के आधार पर: Ǔनजी ¢ेğ 

उ×पादन इकाई के पास एक अनुसंधान एवं ͪवकास (R&D) कɅ ġ है, जहाँ इंजीǓनयर और वै£ाǓनक 
इलेिÈĚक मोǒबͧलटȣ, कृǒğम बुɮͬधमƣा और हाइĜोजन-आधाǐरत इंजनɉ पर काय[ करते हɇ। नवाचार, 

सटȣक उपकरणɉ और कुशल पेशवेरɉ कȧ उपिèथǓत इस ेउÍच तकनीक उɮयोग कȧ Įेणी मɅ लाती है। 

यह अÚययन इस बात को दशा[ता है ͩक èथान, वगȸकरण, तकनीक और Įम का ͪवͧशçटȣकरण ͩकस 
Ĥकार आधुǓनक औɮयोͬगक वातावरण को आकार देते हɇ। 

 

1-MARK QUESTIONS / 1 अकं वाले Ĥæन: 

(a) Why is the manufacturing unit in the case study considered a large-scale industry? 

अÚययन मɅ वͨण[त Ǔनमा[ण इकाई को बड़ ेपैमाने का उɮयोग Èयɉ माना गया है?  

(b) Which combination of factors most likely influenced the industry’s location? 

उɮयोग के èथान Ǔनधा[रण को सबसे अͬधक ͩकस कारकɉ के संयोजन ने Ĥभाͪवत ͩकया 
होगा?  
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(c ) What characteristic makes the industry a “high-tech industry”? 

 ͩकस ͪवशषेता के कारण यह उɮयोग “उÍच तकनीक उɮयोग” कहलाता है? 

2-MARKS QUESTION / 2 अकं वाले Ĥæन: 

` (d)  Analyse how a combination of physical, human, and economic factors influences the 
location of a modern manufacturing unit. Use examples from the case study. 

ͪवæलेषण कȧिजए ͩक ͩकस Ĥकार भौǓतक, मानवीय और आͬथ[क कारकɉ का सिàमलन ͩकसी 
आधुǓनक ͪवǓनमा[ण इकाई के èथान Ǔनधा[रण को Ĥभाͪवत करता है।  

MAP  BASED QUESTIONS 

1. Mark and label any two major automobile manufacturing centres in India. 

भारत के नÈश ेपर दो Ĥमुख ऑटोमोबाइल Ǔनमा[ण कɅ ġɉ को ͬचिéनत करɅ और नाम ͧलखɅ। 
 

2. Locate and label two large-scale iron and steel plants in India. 

भारत मɅ दो बड़ ेपैमाने पर लौह एवं इèपात संयंğɉ को दशा[इए और नामांͩकत कȧिजए। 
 

3. Identify and mark one industrial city each from the mineral-rich region of Jharkhand and the 
port-based region of Maharashtra. 

झारखडं के खǓनज समɮृध ¢ेğ से एक औɮयोͬगक नगर और महाराçĚ के बंदरगाह 
आधाǐरत ¢ेğ से एक नगर को ͬचिéनत कȧिजए। 
 

4. On the map of India, mark any two industrial centres located near coalfields. 

भारत के नÈश ेमɅ कोयला ¢ेğɉ के पास िèथत दो औɮयोͬगक कɅ ġɉ को ͬचिéनत कȧिजए। 
 

5. Mark one agro-based industry and one mineral-based industry location on the map of India. 

भारत के नÈश ेपर एक कृͪष आधाǐरत उɮयोग और एक खǓनज आधाǐरत उɮयोग का èथान 
दशा[इए। 
 

6. Mark and label one large-scale public sector steel plant and one private sector steel plant. 

एक साव[जǓनक ¢ेğ का बड़ ेपैमाने का इèपात संयंğ और एक Ǔनजी ¢ेğ का इèपात संयंğ को 
ͬचिéनत करɅ और नाम ͧलखɅ। 
 

7. On the Indian map, identify one petroleum refinery each from western and northern India. 

भारत के नÈश ेपर पिæचम भारत और उƣर भारत से एक-एक पेĚोͧलयम ǐरफाइनरȣ को 
दशा[इए। 
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8. Mark two major software technology parks in India. 

भारत मɅ दो Ĥमुख सॉāटवेयर टेÈनोलॉजी पाकɟ को ͬचिéनत करɅ। 
 

9. On the map of India, mark one high-tech electronics hub in the southern region and one in 
the northern region. 

भारत के नÈश ेपर दͯ¢णी ¢ेğ मɅ एक उÍच तकनीकȧ इलेÈĚॉǓनÈस कɅ ġ और उƣरȣ ¢ेğ मɅ 
एक कɅ ġ को ͬचिéनत करɅ। 
 

10. Mark and label any two Indian cities known for IT and biotechnology industries. 

भारत के नÈश ेपर आईटȣ और जैव Ĥौɮयोͬगकȧ उɮयोगɉ के ͧलए Ĥͧसɮध दो शहरɉ को 
ͬचिéनत करɅ और नाम ͧलखɅ। 
 

 

 


